Svt efficiency : defined as a binomial
distribution between possible and fitted hits
for each tracks.

Pass127 and 128.
cucu200.
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|zvertex|<10,|n|<1.2,|Dcal<2,Ntpc>15
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|zvertex|<10,|n|<1.2,|Dcal<2,Ntpc>15

A
4

ssd all
ssd pos ) : : : :
ssd neg  feeeeees ............................. ............................. .............................
svt 2 hits : :

svt 3 hits ‘m :
0.8 » e 2 T ............................. .......................................................... .............................
svt+ssd 3 hits

0.7 A SVt*S'Sd 4 hits I ............................. ............................ N .............................

Efficiency
(=]
©
Heve

0.6

0.5

...................................................................................................................................................................................................................................

0.4

DT L LT LT T S D T T T PR

0.3
0.2

.....................................................................................................................................................................................................................................

0.1

0IIllillllillllill’lil’-"l‘lliIIIKIIILIII‘I

0 0.5 1 1.5 2 2.5 3 3.5 4

Tue Apr 17 10:13:38 2007 p'r



